20100 10 70O
opoooo
kotaro@math.titech.ac.jp

oooooooo booo 7

good

e 0010 130000160 400000000DODODOODOOOOOO
e OO0 3000O0O0O0O0OOOOOODODODODOO



oooooooooooo v 2

(T Doooooooooood

71 DOOOOODOO

s 000000 0000 H3D400000000000 L*00000000000*0

(7.1) H? = {p= (po,p1,p2,p3) € L'; (p,p) = —(p0)” + (11)* + (p2)? + (p3)* = —1,po > 0}.
OpcH)*ODODOOOODO

(7.2) T,H?® ={v e L*; (p,v) =0} =p*

000000000000000 L*000 (, )0 T,H}00000000000Hd2 000000 -10
O0000000000000000
0OpeH*0000000 veT,H? ((v,v)=1)0000

(7.3) Yp,o(t) := (cosht)p + (sinh t)v
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